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1 a) Statetwo analytical tools used to understand feasibility of a proposed application. (2 marks)
b) Describe how each of the tools stated in Question 1a) is used. (4 marks)

2  Describe the following system constraints in relation to a feasibility study.
«  Hardware

. Software
. Web/cloud based (6 marks)




== 5220535 13June2018 ==

3 Describe the use of the following life cycle models in Software development.

+  Waterfall
*  Rapid Application Development (RAD)
+  Agile (6 marks)
4 a) Statetwo types of variable scope. (2 marks)
b)  For each of the scope types given in Question 4a), explain their availability for
recall, assignment or amendmentin a computer program. (4 marks)
3 See next page +
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5  Explain one reason for using compiler directives in a computer program. (2 marks)

6 a) Statethree types of data structures used in programs. (3 marks)

b) Describe how each of the structures stated in Question 6a) is used with
program data. (6 marks)
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7 a) Statetwo numeric datatypes used to define items in a program. (2 marks)

b) Describe the main features of the numeric data used in each of the types named
in Question 7a). (4 marks)

o+ 5 See next page +
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8  Describe the purpose of the following ‘decision’ types.
. Conditional check
. Conditional statement
. Switch/Select Case (6 marks)
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9 a) Statethree types of testing methodologies. (3 marks)

b) Describe how each of the methodologies stated in Question 9a) is used in
software development. (6 marks)

o+ 7 See next page +
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10 State two types of functionality testing. (2 marks)

11 Describe one benefit and one limitation of using an array structure ina program. (4 marks)

12 a) Figure 1 shows the pseudocode for an algorithm carried out on an array
of numbers called myArray. However some of the lines of code are in the
wrong order.

IF myaArray[i] > myValue THEN
PRINT myValue

S5ET myValue to myArray[0]
ENDFCR

S5ET myValue to myArray[i]

ENDIF

FCR i = 1 to myArray length - 1
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Figure 1

What is the intended purpose of the algorithm in Figure 1? (2 marks)
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b) Usingthenumbers 1 -7 in Figure 2, arrange the lines of code into the correct

order for the algorithm to operate correctly. (7 marks)
1 IF myArray[i] > myValue THEN
2 PRINT myValue
2 SET myValue to myArray[0]
4 ENDFCR
5 SET myValue to myArray[i]
& ENDIF
7 FOR i = 1 to myArray length - 1

Figure 2

-+ 9 See next page +



= 5220535 13June2018 =ju

13 Acompany wants to develop an application that calculates Value Added Tax (VAT)
charges. The application will be sold to business users.

Discuss the steps that should be carried out to complete the development processes. (9 marks)

+ 10 End of assessment +



